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The figures in the right hand margin indicate full marks.

Candidates are required to give their answers in their own words

as far as practicable.
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1. Answer any ten questions:

@ I G 2ArHd TG WG 3
(a) What is economic development?
T THEA @ A
(b) What is Human Development Index?
TR TAT BT I ?
(c) What is dual economy?
me adAe I A= ?
(d) Mention two main causes of low productivity in Indian agriculture.
TR FRA T SeAMARTOR WD A I T FA

(e) Give the full form of NABARD and SFDA.
NABARD @a¢ SFDA-43 ¢ /<l (=4l |

(f) Mention two main problems of estimating national income of India.

SIS TIeR S ARweE 3o e FeiE S I |

(g) Name two taxes imposed by the Government of India.

(h) What do you mean by import substitution?

wrif oAfReeel @S F @I

(i) What is privatisation?
@RRfEEad @ A ?
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(j) What is disguised unemployment?

o5ed (AT P @7
(k) Define poverty line.
e (AR A WIS |
(1) What is Co-operative farming?
FAQY B PICE AET?
(m) What is rural credit?
A A P A0 2
(n) What is food security?

I o FE IE

(0) Define small scale industry.

TEITS MEE el s |

2. Answer any four questions:
5X4=2(]

& @ 51T AT @@?]. ns 3
(a) What is seasonal unem
s ployment? State the main causes
of unemployment j |
n Indig.
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() Discuss the different charncteristies of an underdeveloped economy. What is ‘sustainable
development'? 8+2=10
wagire (rea fafen T wiomieal Wl | qaLer T A0S M AN ?

(h) What is ‘Green Revolution'? Discuss the merits and demerits of Green Revolution in India.

2+8=10
opqur fag’ wen A eee Fe fanrE o e Sl B

(¢) What do you mean by balance of payments? Discuss the measures adopted by the Government
of India in order to remove deficit in the balance of payments. 2+8=10
TR AT A0S B I ¢ RO [ T A O T w6 i afefame
w{CE(Be| B |

(d) Define industrial policy. Discuss the main characteristics of new industrial policy of 1991
ol India, 2+8=10
fpafea e we | SIeed 1991 AET T Gafer dum taEefe STEAn S|




